=
N = 0l & At & Ml A
016HE = 13 s NES ~ AEHS
2N NES
Ha: HYSYAH(NES)

S I E= EERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
NEs 480,844 481,689 ~845
SR (NES) 81,201 82,046 ~845

T 60,061 60,906 ~845
QA 2H 60,061 60,906 A 845
101 2121l 60,061 60,906 £845

e 60,061 60,906 845
PEELES= 60,061 60,906 ~845
ANEEELESE 60,061 60,906 £845
3)53 33 0@ 0 4,173 A4,173

3)63 AT 10,3319 %72 «30AI 24122 26,035 17,795 8,240

3)73 AH 9,3328 «52x30AI 2+ 128 6,798 19,289 ~2,491

3)83 AT 8,378 «3+30AI 2+ 122 9,049 14,431 ~5,382

3)93 HH 75732 x3 #30AI 2 122 8,179 5,218 2,961




>
N & 0l & Av S Z M A
20158 =3 1 3 LESIH NES ~ SHH
SN 2HE
H: HHE2IAH(LHE)

S I E= EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HI RS2
2ol S 524,346 528,986 A 4,640
HY2IZH (LHS) 85,460 90,100 A4,640

eI 23l 63,780 68,420 A 4,640
QA 2H 63,780 68,420 A 4,640
101 Q124 4] 63,780 68,420 A 4,640

01 2=+ 63,780 68,420 A 4,640
Nznxa>g 63,780 68,420 N4,640
)Nt 2e+¢ 63,780 68,420 A 4,640
3)52 28 0& 0 4,173 N4, 173

3)6= ZE 10,3312 «8H *30Al 2t+12& 29,754 28,472 1,282

)72 & 9,332 +5&H #30Al 2t+12E 16,798 19,289 A 2,491

3)8= Z & 8,378 3 +30Al 2t+122 9,049 8,659 390

3)9= BE 7,573 «3 #x30Al 2t+12E 8,179 7,827 352




= A
N = 0 &8 AFH Y & A AN
20159 =& 1 3 LU NEes ~ e
SN 5o
M FOIXX JIg LdsH(BEH)

Selr SNHYEA (el &e)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
Y] 341,853 337,534 4,319
ZOIXHX JlEr AEHEEH) 267,642 264,117 3,525

SXHEFEX 267,642 264,117 3,525
Z22 AR EX 138, 145 134,620 3,525

201 2Bt 82,305 78,780 3,525

02 2229 45,220 41,695 3,525
NI 29| 23,020 19,495 3,525
IMYI RN dEXNY 2 3,525 0 3,525

3)S & H 22l 3,000,000 3,000 0 3,000

3) Xt = Xt 30,0002 30 0 30

NEAME 22 120,000% 120 0 120
NHIHAR 25,000€ 25 0 25

JgE = 350,000 350 0 350

HEMSAAH (EEH) 74,211 73,417 794
ol 2 Ay 54,731 53,937 794
ol 2y 54,731 53,937 794
101 Q124 H 54,731 53,937 794

01 84 54,731 53,937 794
[DESNIZ=I=ES= 54,731 53,937 794

NI ===t 54,731 53,937 794

3)53 3F 0™ 0 4,173 A4,173

3)63 A 10,3312 «8Y *30A| 2H+12¥ 29,754 28,472 1,282

3)73 AE 9,332 x5 «x30A| 2t 122 16,798 16,074 724

3)92 B 7,573 %3 *30A| 2kx 122 8,179 5,218 2,961




N = 0l & At & Ml A

2AM YXH
H: HHE2IAH(LXEH)

S I E= EERED
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HIDE2
XA 351,392 354,063 A2,671
HY2FZH (YAH) 69,126 71,797 A2,671

eI 23l 49,606 50,677 A 1,071
QA 2H 49,606 50,677 21,071

101 Q124 4] 49,606 50,677 A1,071
01 2=+ 49,606 50,677 A 1,071
Nznxa>g 49,606 50,677 A 1,071

2)A 2+ 2l =&t 49,606 50,677 21,071

3)52 28 0& 0 4,173 N4, 173

3)6= ZE 10,3312 5 «30Al 2t+12& 18,596 10,677 7,919

)72 & 9,332 +5&H #30Al 2t+12E 16,798 22,504 A5,706

3)8= Z & 8,378 2 +30Al 2t+123 6,033 2,887 3,146

3)9= BE 7,573 «3 #x30Al 2t+12E 8,179 10,436 A2,257

Jl2&dl 19,520 21,120 A 1,600
Jl=Zl 19,520 21,120 A 1,600
201 LEt2E | 3,200 4,800 A 1,600
01 At 2t2lt] 3,200 4,800 A 1,600
NEA2Y AREEH 2 & 200,000& 16X 3,200 4,800 A 1,600




N = 0l & At & Ml A

016HE = 13 s NES ~ AEHS
2N Heo
HE: #Y2IFH ()

Sl ol ) CERED
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
Xeo 336,232 340,420 ~4,188
gE2IAY(R2D) 63,204 67,392 ~4,188
oz 2yl 44,224 48,412 ~4,188
QA 2H 44,224 48,412 A4,188

101 @124l 44,224 48,412 A4,188
01 B 44,224 48,412 £4,188
NAIZe 2242 (53) 33 o2 0 4,173 £4,173

DAL 2222 (63)
HE 10,3312 «6% «30AI 24122 22,315 14,236 8,079

DAL 22 42(73)
HE 93328 x4 #30AI 2 122 13,439 9,289 A5,850

DAL 2242 (83)
HE 83782+ 1Y #30AI 2122 3,017 2,887 130

DA 2242 (92)
HH 7,573 22 +30A 214122 5,453 7,827 ~2,374




>
N & 0l & Av S Z M A
20158 =3 1 3 LESIH NES ~ SHH
2AM: B39
Ha: #HSYAH(HSH)

Helr g2 (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
H=2 397,199 395,670 1,529
HY2FZH (HSH) 71,307 69,778 1,529

eI 23l 51,287 49,758 1,529
QA 2H 51,287 49,758 1,529
101 @124l 51,287 49,758 1,529

01 2=+ 51,287 49,758 1,529
1) =224 51,287 49,758 1,529
2) N2tela2es4g 51,287 49,758 1,529
3)52 28 0& 0 4,173 N4, 173

3)6= ZE 10,3312 4P «30Al 2t <123 14,877 14,236 641

)72 ZE 09,3323 4 «30Al 2t+12E 13,439 9,645 3,794

3)8= Z & 8,378 4 H«30Al 2t+122 12,065 8,659 3,406

3)9= & 77,5733 »4H «30A| 2+x 123 10,906 13,045 A2,139




2N
X ZH -
L= B

el

e 02
J 0 B
M0 Mo r2
Y
[m

02 02

=5

I GRA(A) - HRAMY - BES 0l &k o4 0% o Hl D&

= 416,107 419,082 A2,975
e 62,113 65,088 A2,975
43,063 46,028 A2,975

43,053 46,028 22,975

43,053 46,028 A2,975

2= 43,053 46,028 A2,975
Nz 43,053 46,028 N2,975

)Nzt 2eY 43,053 46,028 A2,975

3)52 0 4,173 N4, 173

3)6= 10,3313 *4FH «30Al 2t * 12 14,877 14,236 641

)72 ZE 09,3323 «3E #x30Al 2t+12E 10,079 16,074 A5,995

3)8=2) Z & 8,378 6 *30Al 2t 122 18,097 11,545 6,552




N = 0l & At & Ml A

0158 £ 135 2N NSS ~ LEHS
SN BN
H: HI2YAH (S4D)
el ol (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
= prol 599,271 605, 204 6,003
HY2AHY (BHD) 82,368 83,391 26,003
ol 2] 61,688 67.711 6,003
QA 2H 61,688 67,711 26,023
101 9121 bl 61,668 67,711 26,023
01 24 61,688 67.711 26,003
DEFE=L RN 61,688 67.711 76,023
NE LR 61,668 67,711 26,023
3)53 2% o” 0 4,173 ~4,173
3)63 AT 10,3312 B2 «30AI 2 #1228 29,754 35,590 75,836
3)73 AT 9,332 +6% +30Al 2 #1228 20,158 19,289 869
3)83 AT 8,378 +3% +30A 2H+122 9,049 8,659 390
3)93 7,573% %1% +30A] 2H+122 2,727 0 2,727




N = 0l & At & Ml A

20158 =3 1 3 LESIH NES ~ SHH
2M: oteH
H: HHE2HAH(Gt2AH)

e BB EX CERED
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HIDE2
St 323,905 329,525 25,620
HY2HZH (Bt H) 69,006 74,626 25,620

eI 23l 49,026 54,646 25,620
QA 2H 49,026 54,646 25,620

101 Q124 4] 49,026 54,646 A5,620
01 2=+ 49,026 54,646 25,620
Nznxa>g 49,026 54,646 A5,620
)Nzt 2eY 49,026 54,646 A5,620
3)52 28 0& 0 4,173 N4, 173

3)6= ZE 10,3312 5 «30Al 2t+12& 18,596 21,354 A2,758

)72 & 9,332 +5&H #30Al 2t+12E 16,798 16,074 724

3)9= ZE 7,573 5 «30Al 2t 122 13,632 13,045 587




2015

2N
X ZH -
L= B

el

[
in
i

0y

re o2 rx
B ox Lo
[0 Mo 2
ol
T

02 02

=5

CHE - EI(BA) - NRAY - BYS p/E-E" HlnE2
4l e 292,796 300, AT,219
e 69,399 76, AT,219
48,919 56, AT,219
48,919 56, AT,219
48,919 56, AT,219
2= 48,919 56, AT,219
Nz=U2 48,919 56, ANT,219
)Nzt 2eY 48,919 56, AT,219
3)5= 0 4, N4 75
3)632 28 10,3313 x5H «30A| 2t 128 18,596 14,236 4,360
3)7= & 9,332 x3H +30A| 2++ 123 10,079 12,860 A2,781
3)8= Z & 8,378 x4H x30A| 2+ x 123 12,065 14,431 A 2,366
3)9= & 7,5733 x3H +30A| 2++ 123 8,179 10,436 A2,257




016HE = 13 s NES ~ AEHS
SN e
HH: HHSYAU (FUD)

Sl ol ) CERED
SA-3H-S(3AH) - MRAS - BES Ol &F o4 I E M Husz
N 288,232 292,191 ~3,959
BELIAH(ZLD) 64,831 68,790 £3,959

T 43,451 47,410 £3,959
QA 2H 43,451 47,410 A 3,959

101 @124l 43,451 47,410 A 3,959
01 2=+ 43,451 47,410 A 3,959
DESETEN 43,451 47,410 £3,959
)Nzt 2eY 43,451 47,410 A 3,959
3)53 33 0 0 4,173 A4,173

3)62 AT 10,3312 %42 «30AI 2 122 14,877 10,677 4,200

3)73 AN 9,332 +52+30A 2H+122 6,798 16,074 724

3)82 A 8,378%+3 #3041 2H+122 9,049 8,659 390

3)93 HE 7,573% 1Y #30AI 2122 2,727 7,827 A5,100




2AM: oHEH
HE: #HSAAY(HH)

Helr g2 (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
N 433,543 433,944 A 401
HY2HZH (D) 69,800 70,201 A 401

eI 23l 50,240 50,641 A 401
QA 2H 50,240 50,641 A 401
101 @124l 50,240 50,641 A 401

01 2=+ 50,240 50,641 A 401
Nznxa>g 50,240 50,641 A 401
)Nzt 2eY 50,240 50,641 A 401
3)52 28 0& 0 4,173 N4, 173

3)6= ZE 10,3312 5 «30Al 2t+12& 18,596 14,236 4,360

)72 Z & 9,332 «6H *x30Al 2t+12E 20,158 12,860 7,298

3)8= Z & 8,378 2 +30Al 2t+123 6,033 11,545 A5,512

3)9= & 77,5733 x2H +30AI 2++ 123 5,453 7,827 AN2,374




N = 0l & At & Ml A
2015HE 22 15 BN WSS ~ YD
SA: 23
B FOINA Y BBH(BIY)

SE R CER-ED
SA - () - NRANY - BES 0 &k 7= HDz2
z2=d 255,583 255,499 84
=QIRX Dlgt 2sH(ESH) 198,996 196,816 2,180

EPNEELESESRY 198,996 196,816 2,180
BIASAL HREFA 2,180 0 2,180

201 LEt2A | 980 0 980

01 AtR 22l | 980 0 980

NUASALREX Sl 7,000 #2 *703] 980 0 980

202 Oddl 1,200 0 1,200

01 SLHOYI 1,200 0 1,200
NEREALRET 2LH0IH|

50,000 «2H » 122 1,200 0 1,200

HE2IIH(E23Y) 56,587 58,683 A 2,096

eI 23l 39,887 41,983 A 2,096

Qa2 H| 39,887 41,983 A 2,096

101 Q124 H] 39,887 41,983 A 2,096

01 2= 39,887 41,983 A 2,096

Nzu2R=4 39,887 41,983 A2,096

)Nzt 2eeY 39,887 41,983 A 2,096

3)52 33 0& 0 4,173 N4,173

3)6=2 Z & 10,3313 +6Z «30AI 2Hx12& 22,315 14,236 8,079

)72 & 9,332 1 #30Al 2t+12E 3,360 12,860 A 9,500

3)8=2 2 & 8,378 2 «30Al 2t+122 6,033 2,887 3,146

3)9= ZE 7,573 «3 #x30Al 2t+12E 8,179 7,827 352




2015

2N
X ZH -
L= B

el

[im
H
Bk
oY
ton

o

I

ro 02 02
¥ 0¥ @
oy
o
(3

H0 MO r2
092 09

=5

g Al A

HE . E(BA) - NRAY - BYS 0] &b 2 p/E-T HDE2
& EX 324,952 327,638 A 2,686
e 68,040 70,726 A 2,686
48,560 51,246 A 2,686
48,560 51,246 A2,686
48,560 51,246 A 2,686
2 48,560 51,246 A 2,686
Nz 48,560 51,246 N 2,686
] 0 4,173 A4 173
2)6= 1 & 10,3313 *4H «30AI 2t+ 123 14,877 14,236 641
2)7=2 ZE 9,332 #4H«30Al 2t 123 13,439 16,074 A2,635
2)8= ZE 8,3783 4 «30Al 2t+12E 12,065 11,545 520
2)9= ZE 7,573 «3H+30Al 2t+122 8,179 5,218 2,961




